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7. The sum of coefficients of integral powers of x in the binomial expansion of (1 - 2\/})50 is:
(1)536% +1) (2) 5 (3% (3) 5 (3% —1) (4) 5 (2% +1)
Answer:

We know that

(1= 2%)™ = 50¢,(~2V%)" +50¢, (~2%)" +50c, (~2%)" +50¢, (~2V%)" + ++ 505, (~29%)" > ()

(1+2v%)™ = 504, (2vx)° + 50¢, (2vx)" + 504, (2vx)" + 50, (2vx)° + - + 50¢,, (2v%)™ > (2)
Putting x=1

Adding equation (1) and (2) we get

1+3° =201+ 50c222+----+50c50250)

14350

50 _
Or 1+ 50¢,2%+...4+50,,,2°° = -

Correct option is (1) % (350 +1)
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